nom diagramme degrés codegrés orbites corps  |Z@| z #cl. G/ZG
G(de,e,r) Ok ed[l..r —1] sirytider(r—1)/2 . e(r—1)
e d > 2 s. . o ed(0..r — 1] xcepi roe oven Q(Cae) d(e AT) sT7 (thtots .. .t,) " rr
Gis Q@ D s =stu g g 0,24 $6,t12,u8  Q(Cas) 12 ustut 2 8,
5 u
A, 0—0--0 2.r,r41] [0..r—1] ¢ Q 1 (tr...tp)"
G, @—@ 4.6 0,2 s4 Q(¢s) 2 (st)3 7 Ay
Gs 8,12 0,4 56 Q(4) 4 (st)3 16 Sy
Ghs @—@ 20, 30 0,10 512 Q) 10 (st)3 45 As
Gas @—@—@ 6,9,12 0,3,6 512 Q) 3 (stu)* 24 32x5Ly(3)
Gz @_@_@D_@ 12,18,24,30 0,6,12,18 540 Q) 6 (stuv)? 102 PSps(3)
G&d’;é’") — . . 9 dii..r] do..r—1] : M Q)  d (stats...t,)
. P
Gs @=@ 6,12 0,6 s4,t4 Q) 6 (st)? 21 Ay
G1o e— 12,24 0,12 58,16 Q(¢2) 12 (st)? 48 Gy
Gis @=(§) 30,60 0,30 20, 112 Q(¢15) 30 (st)? 135 As
Gas O—06G—0 6,12,18 0,6,12 59,12 Q) 6 (stu)? 48 32xSLy(3)




nom diagramme degrés codegrés orbites corps |ZG| z #cl. G/Z2G
ty
G(jdgw) T 2d1 'r'(;”_l] 2d[0. .1 — 1] e%zid%%dd QGoa)  d2AT) s75e (thtats.. . t,) 5
2
Gr SOQ?; 12,12 0,12 56, t4, ud Q((r2) 12 stu 42 Ay
O
Gi1 Q‘ 24,24 0,24 12,18, ub Q(Cas) 24 stu 96 S,
@
Gho s@t 60, 60 0,60 $30,120,u12  Q(Cso) 60 stu 270 As
ei(g’,f«’gz :e O—0-+0 elt-p-1l (er[(l '136__2],, LU Q) enr (Btats.. ) S
2
Gle,e,2) 3 1ale) 00 2.¢ O,e—2  codue s QUG A2 (st)/D S
Ge =0 4,12 0,8 $6, 4 Q((r2) 4 (st) 14 Ay
Gy QE@ 8,24 0,16 512,16 Q(¢s) 8 (st)3 32 S,
Gz =6 20, 60 0,40 530, 12 Q(¢20) 20 (st)? 90 As
e QL@ 6,24 0,18 512,18 Q((3,v/—2) 6 (st)* 24 S,
Gao @L@ 12,30 0,18 520 Q(¢s,V5) 6 (st)5 27 As
Gor Qﬂ@ 12,60 0,48 $30,620 Q(Ci2,v5) 12 (st)® 54 As




nom diagramme degrés codegrés  orbites corps Z #cl. G/Z2G
t
Gia s 6,8 0,10 512 Q(V/=2) (stuyd 8 &4
f. N\ ustu = tust 3
Gis s .Q.g S = Lust 8,12 0,16  s6,tul2  Q(Cs) (stu)® 16 CH
t
G2 ©®2 12,20 0,28 s30  Q(i,V/5) (stu)® 18 2As
u
Gos = Hs O=0—0 2,6,10 0,4,8 s15  Q(V5) (stu)® 10 As
s t u
Gay (& tu(stu)?s = utu(stu)?  4,6,14 0,8,10 21 Q(V-T7) (stu)” 12 GL3(2)
s t
u
Gar (Q) tu(stu)3t = utu(stu)® 6,12, 30 0,18,24 545 Q(C3,V/5) (uts)® 34 g
s t
Gos = Fy O—0O=0—0 2,6,8,12 0,4,6,10 s12,t12  Q (stuv)® 25 24%(G3 x G3)
s t u v
Gao Q—(& 4,812,20 0,8,12,16 40 Q%) (stvu)® 37 212G
s t u
Gso = Hy OO—0O—0O 2,12,20,30 0,10,18,28 s60  Q(V5) (stuv)’ 34 (As x A5)x2




nom diagramme degrés codegrés orbites corps |ZG]| z #cl. G/ZG

Ga1 M 8,12,20,24 0,12,16,28 s60  QG) 4 (stuwv)® 59 24 %84

v t w
w
Gss 48> 4,6,10,12,18 0,6,8,12,14 s45  Q(Cs) 2 (stuow)® 40 SOs(3)
s t u v
w
G4 (8% 6,12,18,24, 30,42 0,12,18,24, 30, 36 5126 Q(G) 6 (stuwvwz)” 169 PSOg (3).2
s t u v T

S2
Gss = Eg Q—Q—i—o—o 2,5,6,8,9,12 0,3,4,6,7,10 s36 Q 1 (s1...s6)'2 25 SO;(2)
S2
Gss = Er Q—Q—i—Q—Q—Q 2,6,8,10,12,14,18 0,4,6,8,10,12, 16 63 Q 2 (s;...s7)? 60  SO:(2)
Gsr = Eg Q—Q—E—Q—Q—Q—Q 2,8,12,14,18,20,24,30 0,6,10,12,16,18,22,28 s120 Q 2 (s1...s5)'® 112 SOF(2)

S1 S3 S4 S5 S6 S7 S8




